
S5-100

A4

Parts List for 661 and 861 Truck Sander Mounting Kit

Ref # Name Part #

1

1

2

4
5

2 Right Hand Angle Bracket S5-101R

Left Hand Angle Bracket S5-101L A

B 3/8” x 1 1/4” Hex Head Bolt 4

C 3/8” Flat Washer 7

D 3/8” Nylock Hex Nut 7

3/8” x 2” Hex Head Bolt 3

16

28

28

12

3 Top Adjustment Bar S5-102

4 Bottom Adjustment Bar S5-105
5 Clamp Block S5-103

1,3,4,5(x2),
A-D

2-4,5(x2),
A-D

Left Hand Bracket Assy S5-100L

Right Hand Bracket Assy S5-100R

661, 861 Sander
Mounting Kit
(2 S5-100L + 2 S5-100R)

S5-100

Ref # Description
Qty./
Brkt.

Qty./
Kit

All hardware is coarse thread (UNC) grade 5 unless noted.

Left Hand Sander Bracket Right Hand Sander Bracket

3
A

A

A

A

A

A

B

C

D

B

C

D

4

5


